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Solve each compound inequality. Write your answer
as a single inequality or write No Solution or All Real Numbers.
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The solution if using the word "AND" would
be -2<x<6

Solve for K. State restrictions on the variables.
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the solution if using the word "OR"
would be K<3 or K>7
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The solution if you were using the word "AND"
would be R<-3/2

Write the equati on for this Absolute Value function.
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Solve.
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Graph this Asolute Value Function.

y=tp-1-3
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1 right 3 down: Vertex (1, -3)

Opens up

Slope of sides is 1/3



